
LO: To solve problems involving finding missing values (bronze). 
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LO: To solve problems involving finding missing values (silver). 
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LO: To solve problems involving finding missing values (gold). 

1) 
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3)  p and q each stand for whole numbers. p + q = 1000 and p is 150 greater 

than q. Work out the values of p and q. 

 

4)            and  each stand for a different number.                =     34 

     +          =          +          +      

          What is the value of ? 

 

5)  
 

 

 

 



LO: To solve problems involving finding missing values (bronze)-answers. 

1)  

a) Yes, because 3 + 3 + 4 = 10 

b) Circle = 2 

 

2) Answers will vary 
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LO: To solve problems involving finding missing values (silver)-answers. 

1)  
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36 

25 

57 

46 

Answers will vary 



 

LO: To solve problems involving finding missing values (gold)-answers. 

1)  
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3)  p and q each stand for whole numbers. p + q = 1000 and p is 150 greater 

than q. Work out the values of p and q.   p =  575   q = 425 

 

4)            and  each stand for a different number.                =     34 

     +          =          +          +      

          What is the value of ? 

 

5)  
 

 

 

 

 

36 

25 

17 

Answers will vary 


